Precalculus Review                                                   Name _______________

Be familiar with the following:

a. terminal side, initial side, vertex

b. angles that have positive or negative degree measures

c. coterminal angles

d. sine, cosine, tangent, cosecant, secant, cotangent functions

e. reference angles

f. complements and supplements

g. unit Circle

h. right angle applications including the law of sines

i. angular speed and arc length

1. In which quadrant does the terminal side of the angle lie?  

     a. 256(          b. -640(          c. -5(/6          d. 11(/4

2. Find the smallest positive measure for an angle coterminal with each: 

     a. 440(          b. -235(          c. -834(          d. 1000(
3. Convert from radians to degrees or vise versa.  

     a. 3(             b. 510(            c. 88(           d. 2.5 rads 

4. Find the arc length ‘s’ if the radius of the circle is 3 inches and the central angle ( is 240(. 

5. Given the point (-12, -5) on the terminal side of an angle in standard position. Find the sine (, cos (, tan (. Draw a sketch and label it.

6. Assume that ( is the measure of an angle whose terminal side lies in quadrant IV. If the cos ( = 4/5, evaluate the other five trig functions.

7. Suppose sec ( = -3/2, where ( is an angle whose terminal side is in quadrant II. Evaluate the remaining trig functions of (.

8. Find the reference angles for each of the following :

a. 37(          b. 345(          c. -479(          d. 247(          e. 1.75 rads

9. Find the the exact values for the following:

a. sin (/2          b. cos -(/4          c. tan (/3          d. cot 2(
10.   Find two values of ( for the following:

  a.  cos ( = ½          b. tan ( = -
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3          c. csc ( = 2
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11. A tree trimmer wants to determine the height of a tree before cutting it down to be sure that the tree will not fall on nearby building. It is determined that the angle of elevation to the top of the tree is 30( from one point on a level path. From a point 50 feet closer the angle of elevation is 60(. Find the height of the tree.

12. As Yoshio and Hiroko are ice-skating, Yoshio spins his partner in a circle of diameter 4m and then releases her. If Hiroko is moving about the circle at the rate of one rotation every 3 seconds, what is her linear velocity when she is released?

Graphs:

1.  y = 2sin x                    2.  y = cos ¼ x                   3.  y = -sin ( x - (/4 ) + 2 

 

                                                                                                                                                   

4.  y = tan 2x                5. y = sec (2x + (/3) – 1                6.   y =  cot (x + ( )
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